MPM 1D1

The Equation of a Line Given the Slope and a Point
Write the equation of the line that passes through the given point with the given slope.

a) m=4 P(-6,-2) b) m= % PG5, 2)

¢) m:_7 P(—4, 5) d) m=3 P@G,-1)
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Standard Form Ax + By + C =0
Yy=wx b sye 3N hm

y —yi=m (X —Xi)is the equation in point-slope form

Z_ Determine the equation of the line: A\\ R X»M mS

a) with a slope of —4, and that passes

. 2
through the point (-3, 5) b) with a slope of 3 and that passes

through the point (4, -2)

Determine the equation of the line with the same slope as y = 6x — 5 and that has the same x-intercept
as the line defined by the equation 2x — 4y + 8 = 0.
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y —yi=m(x —x;)is the equation in point-slope form

7 Determine the equation of the line: F?\l\ 3 SﬂNV‘HS
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